### **Transfers Report**

This report contains the transfers results.

Contest Name	Ward 2 - Leven
Valid Votes	5,822
Positions to be Filled	4
Quota	1,165

### Stage 1

Candidate Name	Affiliation		No. of Ballot Papers
Paula BAKER	Scottish Green Party		206
Jim BOLLAN	West Dunbartonshire Community Party		953
Ian DICKSON	Scottish National Party (SNP)		1,494
Matthew DILLON	Scottish Conservative and Unionist		420
Ronnie MCCOLL	Scottish National Party (SNP)		653
Michelle Marie MCGINTY	Scottish Labour Party		956
John Kelly MILLAR	Scottish Labour Party		1,089
Sian WILKIE	Independent		51
		Total	5,822

Candidate Ian DICKSON Elected with 1,494 votes, being in excess of the quota of 1,165

### **Transfers Report**

This report contains the transfers results.

329.00000

## Stage 2 - Surplus of Ian DICKSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Paula BAKER	93	0.22021	20.47953
Transfer to Jim BOLLAN	87	0.22021	19.15827
Transfer to Matthew DILLON	5	0.22021	1.10105
Transfer to Ronnie MCCOLL	1,182	0.22021	260.28822
Transfer to Michelle Marie MCGINTY	33	0.22021	7.26693
Transfer to John Kelly MILLAR	28	0.22021	6.16588
No further preference	63	0.22021	13.87323
Not transferred due to rounding			0.00626
	Total		329.00000

### **Transfers Report**

This report contains the transfers results.

51.66063

### Stage 3 - Exclusion of Sian WILKIE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Paula BAKER	5	1.00000	5.00000
Transfer to Jim BOLLAN	16	1.00000	16.00000
Transfer to Matthew DILLON	11	1.00000	11.00000
Transfer to Ronnie MCCOLL	4	1.00000	4.00000
Transfer to Michelle Marie MCGINTY	3	1.00000	3.00000
Transfer to John Kelly MILLAR	6	1.00000	6.00000
Transfer to Paula BAKER	1	0.22021	0.22021
Transfer to Jim BOLLAN	1	0.22021	0.22021
No further preference	6	1.00000	6.00000
No further preference	1	0.22021	0.22021
Not transferred due to rounding			0.00000
	Total		51.66063

### **Transfers Report**

This report contains the transfers results.

231.69974

# Stage 4 - Exclusion of Paula BAKER

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jim BOLLAN	55	1.00000	55.00000
Transfer to Matthew DILLON	7	1.00000	7.00000
Transfer to Ronnie MCCOLL	78	1.00000	78.00000
Transfer to Michelle Marie MCGINTY	30	1.00000	30.00000
Transfer to John Kelly MILLAR	15	1.00000	15.00000
Transfer to Jim BOLLAN	17	0.22021	3.74357
Transfer to Matthew DILLON	1	0.22021	0.22021
Transfer to Ronnie MCCOLL	56	0.22021	12.33176
Transfer to Michelle Marie MCGINTY	7	0.22021	1.54147
Transfer to John Kelly MILLAR	3	0.22021	0.66063
No further preference	26	1.00000	26.00000
No further preference	10	0.22021	2.20210
Not transferred due to rounding			0.00000
	Total		231.69974

### **Transfers Report**

This report contains the transfers results.

# Stage 5 - Exclusion of Matthew DILLON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jim BOLLAN	89	1.00000	89.00000
Transfer to Ronnie MCCOLL	9	1.00000	9.00000
Transfer to Michelle Marie MCGINTY	119	1.00000	119.00000
Transfer to John Kelly MILLAR	67	1.00000	67.00000
Transfer to Ronnie MCCOLL	3	0.22021	0.66063
Transfer to John Kelly MILLAR	2	0.22021	0.44042
No further preference	154	1.00000	154.00000
No further preference	1	0.22021	0.22021
Not transferred due to rounding			0.00000
	Total		439.32126

#### 439.32126

### **Transfers Report**

This report contains the transfers results.

19.26693

### Stage 6 - Surplus of John Kelly MILLAR

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jim BOLLAN	126	0.01626	2.04876
Transfer to Michelle Marie MCGINTY	854	0.01626	13.88604
Transfer to Jim BOLLAN	5	0.00358	0.01790
Transfer to Michelle Marie MCGINTY	5	0.00358	0.01790
No further preference	163	0.01626	2.65038
No further preference	13	0.00358	0.04654
Not transferred due to rounding			0.01077
	Total		19.26693

### **Transfers Report**

This report contains the transfers results.

### Stage 7 - Exclusion of Ronnie MCCOLL

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jim BOLLAN	273	1.00000	273.00000
Transfer to Michelle Marie MCGINTY	109	1.00000	109.00000
Transfer to Jim BOLLAN	405	0.22021	89.18505
Transfer to Michelle Marie MCGINTY	184	0.22021	40.51864
Transfer to Jim BOLLAN	13	0.01626	0.21138
Transfer to Michelle Marie MCGINTY	5	0.01626	0.08130
Transfer to Michelle Marie MCGINTY	2	0.00358	0.00716
No further preference	362	1.00000	362.00000
No further preference	652	0.22021	143.57692
No further preference	16	0.01626	0.26016
No further preference	8	0.00358	0.02864
Not transferred due to rounding			0.00000
	Total		1,017.86925

#### 1,017.86925